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Internal Assessment Test — II AUGUST 2023

Sub: | Complex Analysis, Probability and Linear Programming Code: 21MATME41
Date: 08-08-2023 Duration: |90 mins Mz 50 Sem: [IV | Branch: ME
Marks:
Question 1 is compulsory and Answer any 4 from the remaining questions.
Marks OEE -
Cco RBT
Find an initial solution by NWC method
Destination
A B C D Supply
1 o I 11 13 17 14 250 | 101} cos L3
11 16 18 14 10 300
111 21 24 13 10 400
Demand 200 225 275 250
Explain the canonical form and standard form of an LPP. Convert the following LPP|
) to thfa standard form: .Minimize z = 3x, +4x, (101 | cou 13
Subject to the constraints 2x; —x, < 4; 3x; + 5x, > 10; x; — 4x, = 12
x, =0
Solve by simplex method, Maximize z = 3x + 2y
3 Subject to the constraints 2x + y < 5;x +y <3 (101 | co4 L3
x,y=0
Use two-phase method to solve the LPP,
Maximize z = 9x + 3y , .
4 Subject to the constraints 4x +y < 8;2x+y < 4 o1 co4 =
x,y=0
Using Big — M method, solve the LPP,
Maximize z = 2x + y , .
> Subject to the constraints 3x +y =3;4x +3y > 6;x+ 2y <3 oI cos =
x,y=0
Using Least cost method solve the following transportation problem
Destination
D1 D2 D3 D4 Supply
6 | origin O-1 19 30 50 10 i [101} cos | L3
& O-II 70 30 40 60 9
O-111 40 8 70 20 18
Demand 5 8 7 14
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